= sys[m,, x0_, yO_J = {xX"[t]=y[t]+mex[t]* (X[t]"2+y[t]"2),
V' [t] =-X[t]+mxy[t]* (X[t]1"2+y[t]"2), x[0] ==x0, y[0] ==YyO}

n2l= ans[m_, x0_, yO_, tf_7]:=
{X[t1, y[t1} /. Flatten[NDSol ve [sys[m xO0, y0], {x[t], y[t]}, {t, O, tf}1]

n3r= soll =ans[-1, 1, 0, 100]

outzl= {l nterpol atingFunction [{{0., 100. }}, <>][t], InterpolatingFunction[{{0., 100.}}, <>][t]}

in4:= oscgraphl = Pl ot [{First [sol 1], Last [sol 1]}, {t, O, 100},
AxeslLabel - {"t", "x, y"}, PlotStyle » {Dashing[{}], Dashing[{0.02, 0.02}1}]

Out[4]=

insl:= Xsol 1[t_]1 :=First [sol 1]

ine:= ysol 1[t_]1 : = Last [sol 1]

in[7:= oscgraph2 = ParanetricPl ot [{xsol 1[t], ysol 1[t]},
{t, 0, 100}, PlotRange » {{-2, 2}, {-1, 1}}, AxeslLabel - {"x", "y"}]
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Out[7]=
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